
 

  

Environmental Product Declaration (EPD) 

Declaration Code: EPD-FS-GB-8.1 
 

  

 
ASSA ABLOY  
(Schweiz) AG  

 
 
 
 
 

Accessories for doors  

 

Finger protection for doors   

 

 

Basis:  

DIN EN ISO 14025 
EN 15804 + A2 

Company EPD 
Environmental  

Product Declaration 

Publication date: 
 16.07.2025 

Valid until:  
16.07.2030 

 
www.ift-rosenheim.de/ 

published EPDs 
 



 

  

Environmental Product Declaration (EPD) 

Declaration Code: EPD-FS-GB-8.1 
 

Programme operator 
ift Rosenheim GmbH 
Theodor-Gietl-Straße 7-9 
D-83026 Rosenheim 

Practitioner of the 
LCA 

PeoplePlanetProfit GmbH & Co. KG 
Gerberstrasse 7 
D-88250 Weingarten 

Declaration holder 

ASSA ABLOY (Schweiz) AG 
Untere Schwandenstrasse 22 
8805 Richterswil (Switzerland)t 
www.planet.ag 

Declaration code EPD-FS-GB-8.1 

Designation of 
declared product Finger protection for doors 

Scope The Planet finger protection protects hands and fingers from getting caught in 
doors. 

Basis 

This EPD was prepared on the basis of EN ISO 14025:2011 and  
DIN EN 15804:2012+A2:2019. In addition, the “Allgemeiner Leitfaden zur 
Erstellung von Typ III Umweltproduktdeklarationen” (Guidance on preparing Type 
III Environmental Product Declarations) applies. The Declaration is based on the 
PCR documents “PCR Part A” PCR-A-1.0:2023 and " Accessories for windows and 
doors” PCR-ZFT-1.3:2025. 

Validity 

Publication date: 
16.07.2025 

Last revision: 
23.07.2025 

Valid until 
16.07.2030 

This verified company Environmental Product Declaration applies solely to the 
specified products and is valid for a period of five years from the date of publication 
in accordance with DIN EN 15804. 

LCA basis 

The LCA was prepared in accordance with DIN EN ISO 14040 and DIN EN ISO 
14044. The base data includes both the data collected at the production site of 
ASSA ABLOY (Schweiz) AG and the generic data from the ”LCA for Experts 10“ 
database. LCA calculations were carried out for the included “cradle to gate with 
options” life cycle including all upstream chains (e.g. raw material extraction, etc.). 

Notes 
The “Conditions and Guidance on the Use of ift Test Documents” apply. 
The declaration holder assumes full liability for the underlying data, certificates and 
verifications. 

 

 

 

Christoph Seehauser 
Deputy Head of Sustainability 

Dr. Torsten Mielecke 
Chairman of Expert Committee 
ift-EPD and PCR 

Susanne Volz 
External verifier 
 



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 3 

Product group: Accessories for doors  

 
1 General product information 

Product definition The EPD relates to the product group Accessories for doors and applies to: 
 

1 running metre of finger protection for doors  
made by ASSA ABLOY (Schweiz) AG  

 
The declared unit is obtained as follows:  

Assessed product Declared unit Mass per length 

Roller protectors 1 running metre 0.923 kg/m 

Cover profiles (hinge side) 1 running metre 0.303 kg/m 

Table 1 : Product groups 
 
The average unit is declared as follows: 
Directly used material flows are determined based on the product weight in 
relation to the standard lengths (finger protection roller blind: 1.925 m or 
finger protection cover profile: 1.980 m) and allocated to the declared unit (1 
m). All other inputs and outputs during production are allocated in their 
entirety to the declared unit, as they cannot be directly related to the average 
size. The reference period is the year 2024. 
 
The validity of the EPD is limited to the following models: 
Roller protectors Cover profiles (hinge side) 
FSR 5000 FSA 8100 [U-Clip] 
FSR 6000 (incl. Installation profile) FSA 8200 [U] 

 
FSA 8300 [D] 
FSA 8400 [P] 
FSA 8500 [O] 

 
FSA 8800 [S] 
FSA 8800 [S30] 

 FSA 8900 [AG1] 
FSA 8900 [AH2] 

  
 

Product description PLANET roller protectors 
Planet finger protection roller blinds close the gap on the secondary closing 
edge on the opposite side of the hinge on swing doors. They are suitable for 
easy installation on new or existing doors indoors and outdoors and 
automatically pull up to a constant tension. Thanks to the specially developed 
hook-in and hook-out system for the roller blind, installation is very easy. An 
innovative marking aid also helps carpenters and metalworkers to install the 
roller blind correctly. The roller blinds are washable and therefore particularly 
easy to clean. 
 
The roller blinds, including the fabric, are very durable, flame-retardant (B1 
according to DIN 4102-1) and UV-resistant. Adjustments, maintenance and 
cleaning are very easy to carry out. Thanks to different mounting profiles, 
roller blinds can also be used for glass doors or doors with panic fittings. Both 
the fabric and the housing are available in different colours 
 



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 4 

Product group: Accessories for doors  

 
PLANET cover profile (hinge side)  
Planet cover profiles are used to secure the hinge side on the secondary 
closing edge. There are different solutions for different hinge situations, 
which can be fitted to both new and existing doors. With the FSA 8800 [S] 
cover profiles, the finger protection can be easily and efficiently installed 
without screws and the door gap can be covered to the maximum extent. The 
other cover profiles FSA 8100, 8200, etc. can be used for many additional 
applications and door situations. Thanks to adhesive solutions (clip system), 
the cover profiles can be installed on glass doors, for example, without 
screws. Available in different colours, the right cover profile can be found for 
every door. Optional accessories (e.g. marking aid) can be used for faster 
and easier installation. 
 
For a detailed product description, please refer to the manufacturer's 
information at www.planet.ag or the product descriptions for the respective 
offer. 
 

Product manufacture 

 



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 5 

Product group: Accessories for doors  

 
Scope Planet finger protection can be installed on almost all types of doors: 

• Automatic doors (power-operated doors) 
• Fire doors 
• Smoke protection doors 
• Swing doors 
• Wooden doors 
• Metal doors (steel, aluminium, etc.) 
• Plastic doors (PVC doors) 
• Glass doors 

 
These are used in public buildings, office and administrative buildings, 
industrial buildings and in private homes. Planet finger protection is often 
used in daycare centres, schools, hospitals, hotels, etc. 
 

Verifications • Flame retardant B1 in accordance with DIN 4102-1 (general 
building inspection test certificate abP according to DIBt) 

• Tested continuous function for 2 million test cycles in accordance 
with EN 1191:2012 

• Tested according to UL10B/C and CAN/ULC-S104-15-R2020 for 
use on fire and smoke protection doors 

• Fabric finger protection roller blind certified according to OEKO-
TEX Standard 100 

 
Further and current certification (including other national approvals) can be 
found at www.planet.ag. 
 

Quality assurance 
 

The following quality assurances are available: 
• External monitoring in accordance with the provisions of general 

building approval no. Z-6.100-2528 (‘Ü mark’) by ift Rosenheim 
• TÜV safety test in accordance with DIN EN 16654/02 

 
Management systems 
 

The following management systems are in place: 
• Quality management system in accordance with DIN EN ISO 

9001:2015 
• Energy management system in accordance with DIN EN ISO 

50001:2018 
• Occupational health and safety management system in accordance 

with SN EN ISO 45001:2018 
 

Additional information • Fire behaviour according to DIN 4102-1 and UL 10B/C or 
CAN/ULC-S104-15-R2020 

• Mechanical safety according to DIN EN 16654/04.18 
• Chemical product safety according to AfPS GS 2019:01 PAK 
• Conformity mark for building materials with fire behaviour 

requirements 
 
The performance characteristics with regard to fire behaviour and the Ü mark 
have been tested and certified by ift Rosenheim. 



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 6 

Product group: Accessories for doors  

 
2 Materials used 

Primary materials The primary materials used are specified in Section 6.2 (Inputs). 

 
Declarable substances The product contains no substances from the REACH candidate list  

(declaration dated 26th June 2025). 
 
All relevant safety data sheets are available from ASSA ABLOY 
(Schweiz) AG 
 

3 Construction process stage 

Processing 
recommendations, 
installation 

Observe the instructions for mounting/installation, operation, 
maintenance and disassembly, provided by the manufacturer. See 
www.planet.ag 
 

4 Use stage 

Emissions to the 
environment 

No emissions to indoor air, water or soil are known. There may be VOC 
emissions. 
 

Reference service life (RSL) The RSL information was provided by the manufacturer. The RSL shall 
be specified under defined reference in-use conditions and shall refer to 
the declared technical and functional performance of the product within 
the building. It shall be established in accordance with any specific rules 
given in European product standards, or, if not available, in accordance 
with a c-PCR. It shall also take into account ISO 15686-1, -2, -7 and -8. 
Where European product standards or a c-PCR provide guidance on de-
riving the RSL, such guidance shall have priority. 
If it is not possible to determine the service life as the RSL in accordance 
with ISO 15686, the BBSR table “Nutzungsdauer von Bauteilen zur Le-
benszyklusanalyse nach BNB” (service life of building components for 
life cycle assessment in accordance with the sustainable construction 
evaluation system) can be used. For further information and explanations 
refer to www.nachhaltigesbauen.de. 
 
For this EPD the following applies: 
For a “Cradle to gate with options” EPD with the modules C1-C4 and 
module D (A1-A3 + C + D and one or more additional modules from A4 
to B7), the reference service life (RSL) can only be stated if the reference 
in-use conditions are specified. 
The reference service life (RSL) of Finger protection for doors made by 
ASSA ABLOY (Schweiz) AG is not specified. 
 

 

  



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 7 

Product group: Accessories for doors  

 
 

5 End-of-life stage 

Possible end-of-life stages The Finger protection for doors are shipped to central collection points. 
There the products are generally shredded and sorted into their original 
constituents. The end-of-life stage depends on the site where the 
products are used and is therefore subject to the local regulations. 
Observe the locally applicable regulatory requirements. 
 
This EPD shows the end-of-life modules on the basis of EN 17213. 
Metals are recycled to a certain extent. Plastics are sent for thermal 
recycling. Residual fractions are landfilled or, in some cases, thermally 
recycled. 
 

Disposal routes The LCA includes the average disposal routes. 
 

 All life cycle scenarios are detailed in the Annex . 
 

 
  



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 8 

Product group: Accessories for doors  

 
6 Life Cycle Assessment (LCA) 

 Environmental product declarations are based on life cycle assessments 
(LCAs) which use material and energy flows for the calculation and 
subsequent representation of environmental impacts. 
 
Such life cycle assessments were developed for Finger protection for 
doors, serving as the basis. The LCAs are in conformity with the 
requirements set out in DIN EN 15804 and the international standards 
DIN EN ISO 14040, DIN EN ISO 14044 and EN ISO 14025 as well as 
based on ISO 21930. 
 
The LCA is representative of the products presented in the Declaration 
and the specified reference period. 
 

6.1 Definition of goal and scope 

Goal The goal of the LCA is to demonstrate the environmental impacts of the 
products. In accordance with DIN EN 15804, the environmental impacts 
covered by this Environmental Product Declaration are presented for the 
entire product life cycle in the form of basic information. Apart from these, 
no other environmental impacts are specified. 
 

Data quality, data availability 
and geographical and time-
related system boundaries 

The specific data comes exclusively from the 2024 financial year. It was 
recorded at the plant in Richterswil (Switzerland) and comes partly from 
business records and partly from directly read measurements. Primary 
data for energy, water and packaging consumption as well as for auxiliary 
materials and waste/offcuts was collected from the company's own data 
management system and through specific measurements. At the time of 
the plausibility check, data for energy, water, packaging, auxiliary 
materials, waste/offcuts and emissions were available in full and were 
checked for validity.  
 
Generic data comes from the Professional Database and Building 
Materials Database of the ‘LCA for Experts 10’ software. Both databases 
were last updated in 2025. Older data also comes from this database and 
is no more than two years old. No other generic data was used for the 
calculation. 
 
Generic data is selected as accurately as possible in terms of 
geographical reference. If no country-specific data sets are available or 
the regional reference cannot be determined, European or globally valid 
data sets are used. 
 
Data gaps have been replaced with comparable data or conservative 
assumptions, or truncated in accordance with the 1% rule. 
 
The software system for holistic life cycle assessment ‘LCA for Experts’ 
version 10.9.1.17 with database version 2025.1 was used to model the 
life cycle. The LCA was evaluated using the EF3.1 impact assessment 
method. 
The data quality complies with the requirements of EN15941:2024. 



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 9 

Product group: Accessories for doors  

 
Scope / system boundaries The system boundaries refer to the supply of raw materials and 

purchased parts, manufacture, use and end-of-life stage of Finger 
protection for doors. 
No additional data from pre-suppliers/subcontractors or other sites were 
taken into consideration. 
 

Cut-off criteria All data from the operational data collection was taken into account, i.e. 
all input and output materials used, the thermal energy used and the 
electricity consumption. 
 
However, the boundaries are limited to production-related data. Building 
or plant components that are not relevant to product manufacturing were 
excluded. 
 
The transport route of raw materials, auxiliary materials and packaging 
was taken into account. Distances are available for 100% of the 
intermediate products (based on mass), which is why the transport routes 
can be calculated. Transport was mapped using the following standard 
scenario: 
 

Means of transport, capacity utilisation, transport distances 

Transport to the factory with 34-40 t truck (Euro 0-6 mix), diesel, 
27 t payload, 61% (according to standard data set) utilisation, dis-
tance according to manufacturer's specifications (1) 

 
In addition to transport routes for preliminary products, transport routes 
for waste were also taken into account. The transport of waste generated 
in A3 was mapped using the following standard scenario: 
 

Means of transport, capacity utilisation, transport distances 

Transport to collection point with 34-40 t truck (Euro 0-6 mix), die-
sel, 27 t payload, 50% capacity utilisation, distance according to 
manufacturer's specifications (1) 

 
The criteria for the exclusion of inputs and outputs as set out in  
DIN EN 15804 are fulfilled. From the data analysis it can be assumed 
that the total of negligible processes per life cycle stage does not exceed 
1 % of the mass/primary energy. All in all, the total of negligible 
processes does not exceed 5 % of the energy and mass input. The life 
cycle calculation also includes material and energy flows that account for 
less than 1 %. 
 

 

  



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 10 

Product group: Accessories for doors  

 
6.2 Inventory analysis 

Goal All material and energy flows are described below. The processes 
covered are presented as input and output parameters and refer to the 
declared unit. 
 

Life cycle stages The Annex shows the entire life cycle of Finger protection for doors. The 
“Product stage” (A1 - A3), “Construction process stage” (A4 - A5), “End-
of-life stage” (C1 - C4) and the “Benefits and loads beyond the system 
boundaries” (D) are considered. 
 

Benefits The below benefits have been defined in accordance with DIN EN 15804: 
• Benefits from recycling 
• Benefits (thermal and electrical) from incineration 

 
Allocation of co-products No allocations occur during production. Allocations may have been made 

in the background data sets used in the ‘LCA for Experts’ database, 
which are provided in the corresponding individual documentation. 
 

Allocations for reuse, 
recycling and recovery 

If the products are recycled and recovered during the product stage 
(rejects) the components are shredded/broken if necessary and then 
sorted into their single constituents. This is done by various process 
plants, e.g. magnetic separators. 
The system boundaries were set following their disposal, reaching the 
end-of-waste state. 
 

Allocations beyond life cycle 
boundaries 

The current market situation was taken into account when using recycled 
materials in production. At the same time, recycling potential was 
considered, reflecting the economic value of the product after processing 
(recyclate). 
 

Secondary material The use of secondary material by ASSA ABLOY (Schweiz) AG was 
considered in module A3. Secondary material was not used. 
 

Inputs The LCA includes the following production-relevant inputs per 1 running 
metre of finger protection for doors : 
 
Energy 
For the input material pellets, the data set ‘RER: Wood pellets (6.2% 
moisture; 5.8% H2O content) (EN15804 B6) Sphera’ is assumed. For the 
electricity mix in the plant, the data set ‘CH: Electricity grid mix Sphera’ is 
used. 
 
Water 
No water consumed by the individual process steps for the production.  
The consumption of freshwater specified in Section 6.3 originates (among 
others) from the process chain of the pre-products. 
 
 
 
 
 



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 11 

Product group: Accessories for doors  

 
Raw material/pre-products 
The chart below shows the share of raw materials/pre-products in %. 
 

1

2

3

4

5

 
Figure 1 : Percentage of individual materials, roller protector 

 

1

2

3

4

5

 
Figure 2 : Percentage of individual materials, cover profile (hinge side) 

 

Nr. Material 
Mass in % 

roller protector Cover profile 

1 Aluminium 81,0 80,9 

2 Steel 8,5 0 

3 Stainless steel 0 4,3 

4 Polyester 8,2 0 

5 Polyamide 2,3 14,9 

Table 2 : Percentage of individual materials 
 

Ancillary materials and consumables 
Around 8,1E-05 kg of ancillary materials and consumables are used. 
 
 
 
 



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 12 

Product group: Accessories for doors  

 
Product packaging 
The amounts used for product packaging are as follows: 

No. Material 
Mass in kg 

roller protector Cover profile 
1 Foil & protective covers 7,18E-03 6,98E-03 
2 Cardboard 1,77E-02 1,73E-02 
3 Adhesive tape 1,91E-02 1,86E-02 

Table 3 : Weight in kg of packaging per declared unit 
 
Biogenic carbon content 
Only the biogenic carbon content of the associated packaging is speci-
fied, as the total mass of the substances containing biogenic carbon ac-
counts for less than 5% of the total mass of the product and its packag-
ing. In accordance with EN 16449, the following quantities of biogenic 
carbon are generated for the packaging: 
 

Nr. component 
Content in kg C per m 

roller protector Cover profile 

1 packaging 6,11E-03 5,94E-03 
 

Table 4 : Biogenic carbon content of the packaging at gate 
 
GWP values resulting from the binding and release of biogenic carbon 
were calculated specifically for each life cycle module and are listed in 
Table 5. The overall results table presented in this document, issued by 
‘LCA for Experts’, has not been modified. 
 

Binding and release of CO2 emissions in kg CO2 equivalent/running metre 

PG component A1-A3 A5 C3 C4 D 

roller  
protector packaging - 2,24E-02 + 2,24E-02 0 0 0 

Cover profile packaging - 2,18E-02 + 2,18E-02 0 0 0 

Table 5 : Binding and release of biogenic CO2 emissions in kg CO2 eq. from 
product and packaging per life cycle module 

 
Outputs The LCA includes the following production-relevant outputs per 1 running 

metre of finger protection for doors : 
 
Waste 
Secondary raw materials were included in the benefits. 
See Section 6.3 Impact assessment. 
 
Waste water 
The manufacture does not produce any waste water. 

  



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 13 

Product group: Accessories for doors  

 
6.3 Impact assessment 

Goal The impact assessment covers both inputs and outputs. The impact 
categories applied are named below: 
 

Core indicators The models for impact assessment were applied as described in  
DIN EN 15804+A2. 
The impact categories presented in the EPD as core indicators are as 
follows: 

• Climate change – total (GWP-t) 
• Climate change – fossil (GWP-f) 
• Climate change – biogenic (GWP-b) 
• Climate change - land use and land use change (GWP-l) 
• Ozone depletion (ODP) 
• Acidification (AP) 
• Eutrophication aquatic freshwater (EP-fw)  
• Eutrophication aquatic marine (EP-m) 
• Eutrophication terrestrial (EP-t) 
• Photochemical ozone creation (POCP) 
• Depletion of abiotic resources - fossil fuels (ADPF) 
• Depletion of abiotic resources - minerals and metals (ADPE) 
• Water use (WDP) 

 
GWP-t GWP-f GWP-b GWP-l ODP AP 

 

   

  

EP-fw EP-m EP-t POCP ADPF ADPE 

   

   

WDP      

 

     

 
  



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 14 

Product group: Accessories for doors  

 
 
Use of resources The models for impact assessment were applied as described in  

DIN EN 15804-A2. 
The following parameters for the use of resources are shown in the EPD: 

• Renewable primary energy as energy source (PERE) 
• Renewable primary energy for material use (PERM) 
• Total use of renewable primary energy (PERT) 
• Non-renewable primary energy as energy resource (PENRE) 
• Renewable primary energy for material use (PENRM) 
• Total use of non-renewable primary energy (PENRT) 
• Use of secondary materials (SM) 
• Use of renewable secondary fuels (RSF) 
• Use of non-renewable secondary fuels (NRSF) 
• Net use of freshwater resources (FW) 

 
PERE PERM PERT PENRE PENRM PENRT 

 

  

 

  

SM RSF NRSF FW   

    

  

 
Waste The waste generate during the production of 1 running metre of finger 

protection for doors  is evaluated and shown separately for the fractions 
trade wastes, special wastes and radioactive wastes. Since waste 
handling is modelled within the system boundaries, the amounts shown 
refer to the deposited wastes. A portion of the waste indicated is 
generated during the manufacture of the pre-products.  
 
The models for impact assessment were applied as described in  
DIN EN 15804-A2. 
The waste categories and indicators for output material flows presented 
in the EPD are as follows: 

• Hazardous waste disposed (HWD) 
• Non-hazardous waste disposed (NHWD) 
• Radioactive waste disposed (RWD) 
• Components for reuse (CRU) 
• Materials for recycling (MFR) 
• Materials for energy recovery (MER) 
• Exported electrical energy (EEE) 
• Exported thermal energy (EET) 

 
HWD NHWD RWD CRU MFR MER 

      

EEE EET     

  

    

  



 

 

EPD Finger protection for doors 

Declaration code: EPD-FS-GB-8.1 

Publication date: 16.07.2025       Page 15 

Product group: Accessories for doors  

 
Additional environmental 
impact indicators 

The models for impact assessment were applied as described in  
DIN EN 15804-A2. 
 
The additional impact categories presented in the EPD are as follows: 

• Particulate matter emissions (PM) 
• Ionising radiation, human health (IRP) 
• Ecotoxicity – freshwater (ETP-fw) 
• Human toxicity - cancer effect (HTP-c) 
• Human toxicity - non-cancer effect (HTP-nc)  
• Land use related impacts / soil quality (SQP) 

 
 PM IRP ETP-fw HTP-c HTP-nc SQP 

      

      

 



Declaration code: EPD-FS-GB-8.1        Publication date:  16.07.2025        Page 16 

 

 
 

Results per 1 running metre  of  finger protection  for  door s, roller protector  
 Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Core indicators 
GWP-t kg CO2 eq. 12.27 9.31E-02 9.07E-02 ND ND ND ND ND ND ND 0.00 8.88E-03 0.25 6.91E-04 -5.74 
GWP-f kg CO2 eq. 12.18 8.85E-02 6.63E-02 ND ND ND ND ND ND ND 0.00 8.45E-03 0.25 6.91E-04 -5.73 
GWP-b kg CO2 eq. 4.47E-02 3.62E-03 2.45E-02 ND ND ND ND ND ND ND 0.00 3.46E-04 4.10E-04 -4.75E-06 -1.37E-02 
GWP-l kg CO2 eq. 6.91E-02 9.03E-04 5.57E-06 ND ND ND ND ND ND ND 0.00 8.62E-05 1.30E-04 4.15E-06 -1.17E-03 
ODP kg CFC-11 eq. 1.31E-10 1.70E-14 1.76E-14 ND ND ND ND ND ND ND 0.00 1.62E-15 9.10E-13 1.88E-15 -3.79E-11 
AP mol H+ eq. 4.91E-02 1.28E-04 1.55E-05 ND ND ND ND ND ND ND 0.00 1.22E-05 2.14E-04 4.91E-06 -2.18E-02 
EP-fw kg P eq. 1.39E-05 2.37E-07 2.64E-09 ND ND ND ND ND ND ND 0.00 2.27E-08 9.06E-08 1.57E-09 -7.41E-06 
EP-m kg N eq. 1.14E-02 5.31E-05 4.93E-06 ND ND ND ND ND ND ND 0.00 5.07E-06 7.68E-05 1.26E-06 -5.07E-03 
EP-t mol N eq. 0.11 5.43E-04 7.12E-05 ND ND ND ND ND ND ND 0.00 5.18E-05 9.18E-04 1.39E-05 -5.52E-02 
POCP kg NMVOC eq. 2.95E-02 1.16E-04 1.35E-05 ND ND ND ND ND ND ND 0.00 1.11E-05 1.95E-04 3.86E-06 -1.45E-02 
ADPF*2 MJ 172.42 1.14 3.72E-02 ND ND ND ND ND ND ND 0.00 0.11 0.85 9.11E-03 -68.80 
ADPE*2 kg Sb eq. 2.90E-06 5.86E-09 1.95E-10 ND ND ND ND ND ND ND 0.00 5.60E-10 8.32E-09 4.49E-11 -5.08E-07 
WDP*2 m³ world eq. deprived 2.22 4.40E-04 9.34E-03 ND ND ND ND ND ND ND 0.00 4.20E-05 3.12E-02 7.88E-05 -0.88 

Use of resources  
PERE MJ 85.36 8.59E-02 0.28 ND ND ND ND ND ND ND 0.00 8.20E-03 0.55 1.59E-03 -39.70 
PERM MJ 0.27 0.00 -0.27 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
PERT MJ 85.63 8.59E-02 9.12E-03 ND ND ND ND ND ND ND 0.00 8.20E-03 0.55 1.59E-03 -39.70 
PENRE MJ 169.40 1.14 0.66 ND ND ND ND ND ND ND 0.00 0.11 3.13 9.11E-03 -68.80 
PENRM MJ 3.02 0.00 -0.62 ND ND ND ND ND ND ND 0.00 0.00 -2.28 0.00 0.00 
PENRT MJ 172.42 1.14 3.72E-02 ND ND ND ND ND ND ND 0.00 0.11 0.85 9.11E-03 -68.80 
SM kg 0.00 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
RSF MJ 0.00 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
NRSF MJ 0.00 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
FW m³ 0.21 4.41E-05 2.22E-04 ND ND ND ND ND ND ND 0.00 4.21E-06 9.25E-04 2.41E-06 -2.71E-02 

Waste categories 
HWD kg 1.13E-07 4.80E-11 1.85E-11 ND ND ND ND ND ND ND 0.00 4.58E-12 1.06E-09 2.29E-12 -4.35E-08 
NHWD kg 2.65 1.61E-04 6.75E-03 ND ND ND ND ND ND ND 0.00 1.54E-05 4.38E-03 4.62E-02 -2.35 
RWD kg 6.64E-03 2.23E-06 1.38E-06 ND ND ND ND ND ND ND 0.00 2.13E-07 1.26E-04 9.42E-08 -4.09E-03 

Output material flows 
CRU kg 0.00 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
MFR kg 6.25E-02 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.79 0.00 0.00 
MER kg 0.00 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
EEE MJ 5.54E-02 0.00 0.16 ND ND ND ND ND ND ND 0.00 0.00 0.37 0.00 0.00 
EET MJ 0.10 0.00 0.28 ND ND ND ND ND ND ND 0.00 0.00 0.80 0.00 0.00 

Key: 
GWP-t – climate change - total     GWP-f – climate change - fossil     GWP-b – climate change - biogenic     GWP-l – climate change - land use and land use change     ODP – ozone depletion  
AP - acidification   EP-fw  - eutrophication - aquatic freshwater     EP-m - eutrophication - aquatic marine    EP-t - eutrophication - terrestrial     POCP - photochemical ozone formation      ADPF*2 - 
depletion of abiotic resources – fossil fuels     ADPE*2 - depletion of abiotic resources – minerals and metals     WDP*2 – water use    PERE - use of renewable primary energy     PERM - use of 
renewable primary energy resources used as raw materials    PERT - total use of renewable primary energy    PENRE - use of non-renewable primary energy     PENRM - use of non-renewable 
primary energy resources used as raw materials    PENRT - total use of non-renewable primary energy   SM - use of secondary materials     RSF - use of renewable secondary fuels     NRSF - 
use of non-renewable secondary fuels     FW - net use of freshwater     HWD - hazardous waste disposed     NHWD - non-hazardous waste disposed     RWD - radioactive waste disposed     CRU 
- components for reuse     MFR - materials for recycling     MER - materials for energy recovery     EEE - exported electrical energy     EET - exported thermal energy 
ND – Not declared 
 

 
 



Declaration code: EPD-FS-GB-8.1        Publication date:  16.07.2025        Page 17 

 

 
 

 
Results per 1 running metre  of  finger protection  for  door s, roller protector  

 Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 
Additional environmental impact indicators 

PM Disease incidence 6.45E-07 1.16E-09 1.42E-10 ND ND ND ND ND ND ND 0.00 1.11E-10 1.16E-09 6.15E-11 -4.13E-07 
IRP*1 kBq U235 eq. 0.73 3.16E-04 1.94E-04 ND ND ND ND ND ND ND 0.00 3.02E-05 2.07E-02 1.07E-05 -0.42 
ETP-fw* 2 CTUe 57.59 1.46 2.27E-02 ND ND ND ND ND ND ND 0.00 0.14 0.15 5.25E-03 -20.40 
HTP-c*2 CTUh 8.17E-09 1.98E-11 1.12E-12 ND ND ND ND ND ND ND 0.00 1.89E-12 1.46E-11 1.24E-13 -4.10E-09 
HTP-nc* 2 CTUh 6.09E-08 1.11E-09 7.73E-11 ND ND ND ND ND ND ND 0.00 1.06E-10 3.46E-10 4.79E-12 -4.91E-08 
SQP*2 Dimensionless. 35.15 0.50 9.10E-03 ND ND ND ND ND ND ND 0.00 4.75E-02 0.33 2.59E-03 -12.70 

Key: 
PM – particulate matter emissions     IRP*1 – ionising radiation – human health     ETP-fw*2 - ecotoxicity  – aquatic freshwater     HTP-c*2 - human toxicity potential – cancer effect     HTP-nc*2 - 
human toxicity potential – non-cancer effect     SQP*2 – land use related impacts / soil quality 
ND – Not declared 
 

 
Disclaimers 
*1 This impact category deals mainly with the eventual impact of low-dose ionising radiation on human health of the nuclear fuel cycle. It does not consider effects due to possible nuclear accidents, 
occupational exposure nor due to radioactive waste disposal in underground facilities. Potential ionising radiation from the soil, from radon and from some building materials is also not measured 
by this indicator 
 
*2 The results of this environmental impact indicator shall be used with care as the uncertainties on these results are high or as there is limited experience with the indicator 

 
  



Declaration code: EPD-FS-GB-8.1        Publication date:  16.07.2025        Page 18 

 

 
 

Results per 1 running metre  of finger protection  for  door s, cover profile  
 Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Core indicators 
GWP-t kg CO2 eq. 4.64 3.33E-02 8.84E-02 ND ND ND ND ND ND ND 0.00 2.92E-03 0.11 2.27E-04 -1.94 
GWP-f kg CO2 eq. 4.60 3.17E-02 6.45E-02 ND ND ND ND ND ND ND 0.00 2.77E-03 0.11 2.27E-04 -1.93 
GWP-b kg CO2 eq. 1.01E-02 1.30E-03 2.39E-02 ND ND ND ND ND ND ND 0.00 1.14E-04 1.42E-04 -1.56E-06 -4.46E-03 
GWP-l kg CO2 eq. 2.63E-02 3.23E-04 5.42E-06 ND ND ND ND ND ND ND 0.00 2.83E-05 4.31E-05 1.36E-06 -4.91E-04 
ODP kg CFC-11 eq. 4.97E-11 6.09E-15 1.71E-14 ND ND ND ND ND ND ND 0.00 5.33E-16 3.00E-13 6.18E-16 -1.28E-11 
AP mol H+ eq. 1.81E-02 4.56E-05 1.51E-05 ND ND ND ND ND ND ND 0.00 4.00E-06 2.00E-04 1.61E-06 -7.34E-03 
EP-fw kg P eq. 5.41E-06 8.49E-08 2.58E-09 ND ND ND ND ND ND ND 0.00 7.44E-09 2.95E-08 5.17E-10 -2.48E-06 
EP-m kg N eq. 4.22E-03 1.90E-05 4.81E-06 ND ND ND ND ND ND ND 0.00 1.66E-06 9.54E-05 4.15E-07 -1.69E-03 
EP-t mol N eq. 4.11E-02 1.94E-04 6.94E-05 ND ND ND ND ND ND ND 0.00 1.70E-05 1.06E-03 4.56E-06 -1.84E-02 
POCP kg NMVOC eq. 1.10E-02 4.15E-05 1.32E-05 ND ND ND ND ND ND ND 0.00 3.64E-06 2.43E-04 1.27E-06 -4.83E-03 
ADPF*2 MJ 67.15 0.41 3.62E-02 ND ND ND ND ND ND ND 0.00 3.56E-02 0.31 2.99E-03 -23.40 
ADPE*2 kg Sb eq. 3.13E-06 2.10E-09 1.90E-10 ND ND ND ND ND ND ND 0.00 1.84E-10 2.79E-09 1.47E-11 -1.04E-06 
WDP*2 m³ world eq. deprived 0.80 1.57E-04 9.10E-03 ND ND ND ND ND ND ND 0.00 1.38E-05 1.31E-02 2.59E-05 -0.30 

Use of resources  
PERE MJ 31.69 3.07E-02 0.27 ND ND ND ND ND ND ND 0.00 2.69E-03 0.18 5.24E-04 -13.30 
PERM MJ 0.26 0.00 -0.26 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
PERT MJ 31.95 3.07E-02 8.89E-03 ND ND ND ND ND ND ND 0.00 2.69E-03 0.18 5.24E-04 -13.30 
PENRE MJ 65.11 0.41 0.64 ND ND ND ND ND ND ND 0.00 3.56E-02 1.67 2.99E-03 -23.40 
PENRM MJ 2.05 0.00 -0.61 ND ND ND ND ND ND ND 0.00 0.00 -1.37 0.00 0.00 
PENRT MJ 67.15 0.41 3.62E-02 ND ND ND ND ND ND ND 0.00 3.56E-02 0.31 2.99E-03 -23.40 
SM kg 0.00 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
RSF MJ 0.00 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
NRSF MJ 0.00 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
FW m³ 4.16E-02 1.58E-05 2.16E-04 ND ND ND ND ND ND ND 0.00 1.38E-06 3.72E-04 7.91E-07 -9.39E-03 

Waste categories 
HWD kg 4.30E-08 1.72E-11 1.80E-11 ND ND ND ND ND ND ND 0.00 1.50E-12 3.50E-10 7.50E-13 -1.47E-08 
NHWD kg 0.89 5.77E-05 6.58E-03 ND ND ND ND ND ND ND 0.00 5.05E-06 6.95E-04 1.52E-02 -0.77 
RWD kg 2.56E-03 7.97E-07 1.34E-06 ND ND ND ND ND ND ND 0.00 6.98E-08 4.18E-05 3.09E-08 -1.39E-03 

Output material flows 
CRU kg 0.00 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
MFR kg 6.25E-02 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.25 0.00 0.00 
MER kg 0.00 0.00 0.00 ND ND ND ND ND ND ND 0.00 0.00 0.00 0.00 0.00 
EEE MJ 5.54E-02 0.00 0.15 ND ND ND ND ND ND ND 0.00 0.00 0.19 0.00 0.00 
EET MJ 0.10 0.00 0.28 ND ND ND ND ND ND ND 0.00 0.00 0.34 0.00 0.00 

Key: 
GWP-t – climate change - total     GWP-f – climate change - fossil     GWP-b – climate change - biogenic     GWP-l – climate change - land use and land use change     ODP – ozone depletion  
AP - acidification   EP-fw  - eutrophication - aquatic freshwater     EP-m - eutrophication - aquatic marine    EP-t - eutrophication - terrestrial     POCP - photochemical ozone formation      ADPF*2 - 
depletion of abiotic resources – fossil fuels     ADPE*2 - depletion of abiotic resources – minerals and metals     WDP*2 – water use    PERE - use of renewable primary energy     PERM - use of 
renewable primary energy resources used as raw materials    PERT - total use of renewable primary energy    PENRE - use of non-renewable primary energy     PENRM - use of non-renewable 
primary energy resources used as raw materials    PENRT - total use of non-renewable primary energy   SM - use of secondary materials     RSF - use of renewable secondary fuels     NRSF - 
use of non-renewable secondary fuels     FW - net use of freshwater     HWD - hazardous waste disposed     NHWD - non-hazardous waste disposed     RWD - radioactive waste disposed     CRU 
- components for reuse     MFR - materials for recycling     MER - materials for energy recovery     EEE - exported electrical energy     EET - exported thermal energy 
ND – Not declared 
 

 
 



Declaration code: EPD-FS-GB-8.1        Publication date:  16.07.2025        Page 19 

 

 
 

 
Results per 1 running metre  of finger protection  for  door s, cover profile  

 Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 
Additional environmental impact indicators 

PM Disease incidence 2.26E-07 4.15E-10 1.38E-10 ND ND ND ND ND ND ND 0.00 3.63E-11 6.45E-10 2.02E-11 -1.38E-07 
IRP*1 kBq U235 eq. 0.29 1.13E-04 1.89E-04 ND ND ND ND ND ND ND 0.00 9.91E-06 6.88E-03 3.52E-06 -0.15 
ETP-fw* 2 CTUe 23.73 0.52 2.21E-02 ND ND ND ND ND ND ND 0.00 4.59E-02 5.37E-02 1.72E-03 -6.94 
HTP-c*2 CTUh 2.97E-09 7.08E-12 1.09E-12 ND ND ND ND ND ND ND 0.00 6.20E-13 4.83E-12 4.07E-14 -1.39E-09 
HTP-nc* 2 CTUh 2.17E-08 3.96E-10 7.53E-11 ND ND ND ND ND ND ND 0.00 3.47E-11 9.25E-11 1.57E-12 -1.63E-08 
SQP*2 Dimensionless. 16.60 0.18 8.87E-03 ND ND ND ND ND ND ND 0.00 1.56E-02 0.11 8.52E-04 -4.35 

Key: 
PM – particulate matter emissions     IRP*1 – ionising radiation – human health     ETP-fw*2 - ecotoxicity  – aquatic freshwater     HTP-c*2 - human toxicity potential – cancer effect     HTP-nc*2 - 
human toxicity potential – non-cancer effect     SQP*2 – land use related impacts / soil quality 
ND – Not declared 
 

 
Disclaimers 
*1 This impact category deals mainly with the eventual impact of low-dose ionising radiation on human health of the nuclear fuel cycle. It does not consider effects due to possible nuclear accidents, 
occupational exposure nor due to radioactive waste disposal in underground facilities. Potential ionising radiation from the soil, from radon and from some building materials is also not measured 
by this indicator 
 
*2 The results of this environmental impact indicator shall be used with care as the uncertainties on these results are high or as there is limited experience with the indicator 

 
 



 
 

 

EPD Finger protection for doors  

Declaration code: EPD-FS-GB-8.1 

Publication date:: 16.07.2025        Page 20 

Product group: Accessories for doors  

 6.4 Interpretation, LCA presentation and critical r eview 

Evaluation The environmental impacts of 
• PLANET finger protection - roller protector 
• PLANET finger protection - cover profile 

 
differ greatly from each other. These are different products in the product 
category ‘finger protection’ and not similar product variants. Product 
weights therefore vary greatly. The differences also lie in the different 
preliminary products and raw materials used, as well as in the quantities 
used in the case of identical preliminary products and raw materials. 
 
In terms of manufacturing, the environmental impacts of both products 
arise mainly from the use of aluminium profiles and the associated ano-
dising process or their upstream chains. Aluminium has a strong influ-
ence on all core indicators, whereas other metals only have a strong in-
fluence on ADPE. 
 
In scenario C4, only marginal expenses are expected for physical pre-
treatment and landfill operation. Allocation to individual products is diffi-
cult in the case of landfill. 
When recycling the finger protection roller blind, around 37% of the envi-
ronmental impacts of the core indicators (excluding WDP, as not sup-
ported by the software) occurring during the life cycle can be credited to 
aluminium and < 1% to steel in scenario D. For the finger protection cover 
profile, 31% is attributable to aluminium and 3% to stainless steel. 
The charts below show the distribution of the main environmental im-
pacts. 
 
The values obtained from the LCA calculation are su itable for the 
certification of buildings. 
 
 
Chart 



 
 

 

EPD Finger protection for doors  

Declaration code: EPD-FS-GB-8.1 

Publication date:: 16.07.2025        Page 21 

Product group: Accessories for doors  

  

figure 3 : Percentage of the modules in selected environmental impact  
categories, roller protector 

 

 
figure 4 : Percentage of the modules in selected environmental impact  

categories, cover profile 
 
 

Report The LCA report underlying this EPD was developed according to the 
requirements of DIN EN ISO 14040 and DIN EN ISO 14044 as well as 
DIN EN 15804 and DIN EN ISO 14025. It is not addressed to third parties 
for reasons of confidentiality. It is deposited with the ift Rosenheim. The 
results and conclusions reported to the target group are complete, 
correct, without bias and transparent. The results of the study are not 
designed to be used for comparative statements intended for publication. 
 

Critical review The critical review of the LCA and the report took place in the course of 
verification of the EPD and was carried out by Susanne Volz., an external 
verifier.  

Produ ct group 1  

Cover profile  

Roller protector  



 
 

 

EPD Finger protection for doors  

Declaration code: EPD-FS-GB-8.1 

Publication date:: 16.07.2025        Page 22 

Product group: Accessories for doors  

  

7 General information regarding the EPD 

Comparability This EPD was prepared in accordance with DIN EN 15804 and is 
therefore only comparable to those EPDs that also comply with the 
requirements set out in DIN EN 15804. 
Any comparison must refer to the building context and the same 
boundary conditions of the various life cycle stages. 
For comparing EPDs of construction products, the rules set out in  
DIN EN 15804 (Clause 5.3) apply. 
 
The reference products reported in the balance sheet were identified 
using the worst-case approach and deemed representative of the product 
group. The results of individual products within the product group differ 
from the results of the reference products. The determination of the 
product groups and the resulting variants are documented in the 
background report. 
 

Communication The communications format of this EPD meets the requirements of  
EN 15942:2012 and is therefore the basis for B2B communication. Only 
the nomenclature has been changed according to DIN EN 15804. 
 

Verification Verification of the Environmental Product Declaration is documented in 
accordance with the ift "Richtlinie zur Erstellung von Typ III 
Umweltproduktdeklarationen" (Guidance on preparing Type III 
Environmental Product Declarations) in accordance with the 
requirements set out in DIN EN ISO 14025. 
 
The Declaration is based on the PCR documents “PCR Part A” PCR-A-
1.0:2023 and " Accessories for windows and doors” PCR-ZFT-1.3:2025. 
 

 

 

The European standard EN 15804 serves as the core PCR a) 

Independent external verification of the Declaration and statement 
according to EN ISO 14025:2010 
Independent third party verifier: b) 

Dipl.-Wi.Jur. (FH), M. Sc. Susanne Volz 
a) Product category rules 

b) Optional for business-to-business communication  
Mandatory for business-to-consumer communication  

(see EN ISO 14025:2010, 9.4) 
 
Revisions of this document 

 
 

No. Date Note: Practitioner Verifier 

1 16.07.2025 External verification Brechleiter Volz 
2 23.07.2025 editorial change Brechleiter - 

 



 
 

 

EPD Finger protection for doors  

Declaration code: EPD-FS-GB-8.1 

Publication date:: 16.07.2025        Page 23 

Product group: Accessories for doors  

  
8 Bibliography 

1. Forschungsvorhaben.  EPDs für transparente 
Bauelemente - Abschlussbericht. Rosenheim : ift Rosenheim 
GmbH, 2011. SF-10.08.18.7-09.21/II 3-F20-09-1-067. 
2. Serenella, Sala, Alessandro, Kim Cerutti and Pant, 
Rana. Development of a weighting approach for the 
Environmental Footprint. Luxembourg : Publications Office of 
the European Union, 2018. ISBN 978-92-79-68042-7, EUR 
28562, doi 10.2760/945290. 
3. Klöpffer, W and Grahl, B.  Ökobilanzen (LCA). Weinheim : 
Wiley-VCH-Verlag, 2009. 
4. Eyerer, P. and Reinhardt, H.-W.  Ökologische Bilanzierung 
von Baustoffen und Gebäuden - Wege zu einer ganzheitlichen 
Bilanzierung. Basel : Birkhäuser Verlag, 2000. 
5. EN 16449:2014. Wood and wood-based products – 
Calculation of the biogenic carbon content of wood and 
conversion to carbon dioxide. Berlin : Beuth Verlag GmbH, 
2014. 
6. Gefahrstoffverordnung - GefStoffV.  Verordnung zum 
Schutz vor Gefahrstoffen. Berlin : BGBI. I S. 3758, 2017. 
7. Chemikalien-Verbotsverordnung - ChemVerbotsV.  
Verordnung über Verbote und Beschränkungen des 
Inverkehrbringens gefährlicher Stoffe, Zubereitungen und 
Erzeugnisse nach Chemikaliengesetz. Berlin : BGBI. I S. 
1328, 2017. 
8. DIN EN ISO 14040:2018-05. Umweltmanagement - 
Ökobilanz - Grundsätze und Rahmenbedingungen. Berlin : 
Beuth Verlag GmbH, 2018. 
9. DIN EN ISO 14044:2006-10. Umweltmanagement - 
Ökobilanz - Anforderungen und Anleitungen. Berlin : Beuth 
Verlag GmbH, 2006. 
10. EN ISO 14025:2011-10. Umweltkennzeichnungen und -
deklarationen Typ III Umweltdecklarationen - Grundsätze und 
Verfahren. Berlin : Beuth Verlag GmbH, 2011. 
11. EN 15942:2012-01. Nachhaltigkeit von Bauwerken - 
Umweltproduktdeklarationen - Kommunikationsformate 
zwischen Unternehmen. Berlin : Beuth Verlag GmbH, 2012. 
12. EN 17672:2022. Nachhaltigkeit von Bauwerken - 
Umweltproduktdeklarationen - Horizontale Regeln für die 
Kommunikation von Unternehmen an Verbrauchern. Berlin : 
Beuth Verlag GmbH, 2022. 
13. DIN EN 15804:2012+A2:2019+AC:2021.  Nachhaltigkeit 
von Bauwerken - Umweltproduktdeklarationen - Grundregeln 
für die Produktkategorie Bauprodukte. Berlin : Beuth Verlag 
GmbH, 2022. 
14. Bundesministerium für Umwelt, Naturschutz, Bau und 
Reaktorsicherheit.  Leitfaden Nachhaltiges Bauen. Berlin : 
s.n., 2016. 
15. DIN EN 13501-1:2010-01. Klassifizierung von 
Bauprodukten und Bauarten zu ihrem Brandverhalten - Teil 1: 
Klassifizierung mit den Ergebnissen aus den Prüfungen zum 
Brandverhalten von Bauprodukten. Berlin : Beuth Verlag 
GmbH, 2010. 
16. DIN EN ISO 16000 Teil 6, 9, 11.  
Innenraumluftverunreinigungen: Bestimmung der Emissionen 
von flüchtigen organischen Verbindungen aus Bauprodukten 
und Einrichtungsgegenständen. Berlin : Beuth Verlag GmbH, 
2012, 2008, 2006. 
17. ISO 15686-8:2008-06. Hochbau und Bauwerke - Planung 
der Lebensdauer - Teil 8: Referenznutzungsdauer und 

Bestimmung der Nutzungsdauer . s.l. : Beuth Verlag GmbH, 
2008. 
18. ISO 15686-7:2017-04. Hochbau und Bauwerke - Planung 
der Lebensdauer - Teil 7: Leistungsbewertung für die 
Rückmeldung von Daten über die Nutzungsdauer aus der 
Praxis . s.l. : Beuth Verlag GmbH, 2017. 
19. ISO 15686-2:2012-05 . Hochbau und Bauwerke - Planung 
der Lebensdauer - Teil 2: Verfahren zur Voraussage der 
Lebensdauer . s.l. : Beuth Verlag GmbH, 2012. 
20. ISO 15686-1:2011-05. Hochbau und Bauwerke - Planung 
der Lebensdauer - Teil 1: Allgemeine Grundlagen und 
Rahmenbedingungen. s.l. : Beuth Verlag GmbH, 2011. 
21. ISO 21930:2017-07. Hochbau - Nachhaltiges Bauen - 
Umweltproduktdeklarationen von Bauprodukten. Berlin : 
Beuth Verlag, 2017. 
22. Bundesimmissionsschutzgesetz - BImSchG.  Gesetz 
zum Schutz vor schädlichen Umwelteinwirkungen durch 
Luftverunreinigungen, Geräusche, Erschütterungen und 
ähnlichen Vorgängen. Berlin : BGBI. I S. 3830, 2017. 
23. Chemikaliengesetz - ChemG.  Gesetz zum Schutz vor 
gefährlichen Stoffen - Unterteilt sich in Chemikaliensetz und 
eine Reihe von Verordnungen; hier relevant: Gesetz zum 
Schutz vor gefährlichen Stoffen. Berlin : BGBI. I S. 1146, 
2017. 
24. IKP Universität Stuttgart und PE Europe GmbH.  GaBi 
10: Software und Datenbank zur Ganzheitlichen Bilanzierung. 
Leinfelden-Echterdingen : s.n., 2020. 
25. DIN EN 350-2:1994. Dauerhaftigkeit von Holz und 
Holzprodukten - Natürliche Dauerhaftigkeit von Vollholz - Teil 
2: Leitfaden für die natürliche Dauerhaftigkeit und 
Tränkbarkeit von ausgewählten Holzarten von besonderer 
Bedeutung in Europa. Berlin : Beuth Verlag GmbH, 1994. 
26. DIN EN ISO 12457 Teil 1-4.  Charakterisierung von 
Abfällen - Auslaugung; Übereinstimmungsuntersuchung für 
die Auslaugung von körnigen Abfällen und Schlämmen - Teil 
1-4. Berlin : Beuth Verlag GmbH, 2003. 
27. ift Rosenheim GmbH.  Bedingungen und Hinweise zur 
Verwendung von ift-Prüfdokumentationen. Rosenheim : s.n., 
2016. 
28. DIN 18230-3:2002-08. Baulicher Brandschutz im 
Industriebau - Teil 3: Rechenwerte . Berlin : DIN Media GmbH, 
2002. 
29. DIN EN 384:2022. Bauholz für tragende Zwecke - 
Bestimmung charakteristischer Werte für mechanische 
Eigenschaften und Rohdichte. Berlin : DIN Media Verlag 
GmbH, 2022. 
30. ift-Richtlinie NA-01/4.  Allgemeiner Leitfaden zur 
Erstellung von Typ III Umweltproduktdeklarationen. 
Rosenheim : ift Rosenheim GmbH, 2023. 
31. PCR Teil A.  Allgemeine Produktkategorieregeln für 
Umweltprodukdeklarationen nach EN ISO 14025 und EN 
15804. Rosenheim : ift Rosenheim, 2018. 
32. Gesamtverband der Deutschen 
Versicherungswirtschaft e.V. (GDV).  19 Technische 
Rohstoffe, Halbfabrikate und Industriewaren. 19.3 Papier und 
Papiererzeugnisse. [Online] 2025. [Cited: 10 02 2025.] 
https://www.containerhandbuch.de/chb/scha/index.html?/chb
/scha/scha_19_03.html. 
33. PCR Teil B.  PCR ZFT-1.2: 2020; Zubehör für Fenster und 
Türen. Rosenheim : ift Rosenheim GmbH, 2020. 
 
 
 



 
 

 

EPD Finger protection for doors  

Declaration code: EPD-FS-GB-8.1 

Publication date:: 16.07.2025        Page 24 

Product group: Accessories for doors  

 9 Annex 

Description of life cycle scenarios for Finger prot ection for  doors 
 

* For the declared B modules, the calculation of the results is based on the specified RSL related to one year. 
Table 6 : Overview of applied life cycle stages 

 
Calculation of the scenarios was based on a defined RSL (see Section 4 Use stage). 
 
The scenarios were based on information provided by the manufacturer. The scenarios were 
furthermore based on the research project “EPDs for transparent building components. (1) and EN 
17213. 
 
Note: The standard scenarios selected are presented in bold type. They were also used for calculating 
the indicators in the summary table. 

 Included in the LCA 
—         Not included in the LCA 

 
 

Product stage 

 

Con-
struction 
process 

stage 

 

Use stage* 

 

End-of-life stage 

 

Benefits and 
loads from 
beyond the  

system 
boundaries  

 

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

R
aw

 m
at

er
ia

l s
up

pl
y 

T
ra

ns
po

rt
 

M
an

uf
ac

tu
re

 

T
ra

ns
po

rt
  

C
on

st
ru

ct
io

n/
in

st
al

la
tio

n 
pr

oc
es

s 

U
se

 

M
ai

nt
en

an
ce

 

R
ep

ai
r 

R
ep

la
ce

m
en

t  

M
od

ifi
ca

tio
n/

re
fu

rb
is

hm
en

t 

O
pe

ra
tio

na
l e

ne
rg

y 
us

e 

O
pe

ra
tio

na
l w

at
er

 u
se

 

D
ec

on
st

ru
ct

io
n/

de
m

ol
iti

on
 

T
ra

ns
po

rt
 

W
as

te
 p

ro
ce

ss
in

g 

D
is

po
sa

l 

R
eu

se
 

R
ec

ov
er

y 
R

ec
yc

lin
g 

po
te

nt
ia

l 

       — — — — — — —        



 
 

 

EPD Finger protection for doors  

Declaration code: EPD-FS-GB-8.1 

Publication date:: 16.07.2025        Page 25 

Product group: Accessories for doors  

 A4 Transport 

No. Scenario Description  

A4 Distribution to wholesale 
Europe-wide 

34–40 tonne truck (Euro 0–6 mix), diesel, 27 tonne 
payload, 50% load capacity 1, approx. 1,000 km one way 
(return trip empty) 

1 capacity used: used loading capacity of truck 
 

A4 Transport to the construction site Transport weight [kg/m] Density [kg/m³]  
Volume capacity 

utilisation factor 2 

PLANET finger protection roller protector  0.967 385 < 1 

PLANET finger protection cover profile  0.346 140 < 1 
2 Volume capacity utilisation factor:  
 = 1 product completely fills packaging (without air inclusion) 
 < 1 packaging contains unused volume (e.g.: air, filling material 
 > 1 product is packed in compressed form 

 
Since only one scenario is used, the results are shown in the relevant summary table. 
 
 
A5 Construction/installation process 

No. Scenario Description 

A5.1 Manual 
According to the manufacturer the products are 
installed without using additional lifting and auxi liary 
devices 

In case of deviating consumption during installation/assembly of the products which forms part of the site 
management, they are covered at the construction works level. 
 
Ancillary materials, consumables, use of energy and water, use of other resources, material losses, direct 
emissions as well as waste materials during installation are negligible. 
 
It is assumed that the packaging material is sent for waste treatment in module A5. In line with the conservative 
approach, waste is exclusively thermally recycled: films/protective covers, wooden pallets and cardboard in 
waste incineration plants. Credits from A5 are reported in module D. Credits from waste incineration plants: 
electricity replaces electricity mix (RER); thermal energy replaces thermal energy from natural gas (RER). 
 
Transport to the recycling plants is not taken into account. 
 
Since only one scenario is used, the results are shown in the relevant summary table. 
 
 
 
  



 
 

 

EPD Finger protection for doors  

Declaration code: EPD-FS-GB-8.1 

Publication date:: 16.07.2025        Page 26 

Product group: Accessories for doors  

  
C1 Deconstruction, demolition 

No. Scenario Description 

C1 Deconstruction 

Based on  EN 17213 – Metal windows  
• 95% dismantling of glass-free materials  
• Residual materials on landfill  

Further dismantling quotas are possible, with appro pri-
ate justification.  
 

No relevant inputs or outputs apply to the scenario selected. The energy consumed for deconstruction is 
negligible. Any arising consumption is marginal. 
 
Since only one scenario is used, the results are shown in the relevant summary table. 
 
In case of deviating consumption, the removal of the products forms part of the site management and is 
covered at the construction works level. 
 
 
C2 Transport 

No. Scenario Description 

C2 Transport Transport to collection point using 40 t truck (Eur o 0-6 
mix), diesel, 27 t payload, 50% capacity used, 100 km (1) 

Since only one scenario is used, the results are shown in the relevant summary table. 
 
 
C3 Waste management 

No. Scenario Description 

C3 Current market situation 

Proportion of materials returned  
(based on EN 17213)  

• Metals 100% melted down  
• Plastics 100% thermal recycling in waste incinera-

tion plants  

Electricity consumption of incineration plant 0.5 MJ/kg. 
 
As the products are sold throughout Europe, average data sets for Europe were used as a basis for the 
disposal scenario. Where no European data sets were available, German data sets were used. 
 
The table below describes the disposal processes and their percentage by mass/weight. The calculation is 
based on the above mentioned proportions in percent related to the declared unit of the product system.  
 
 
 
 
 
 



 
 

 

EPD Finger protection for doors  

Declaration code: EPD-FS-GB-8.1 

Publication date:: 16.07.2025        Page 27 

Product group: Accessories for doors  

 C3 Disposal Unit Roller protector Cover profile 

Collection process, collected separately kg 0.877 0.288 

Collection process, collected as mixed construction waste kg 4.61E-02 1.52E-02 

Recovery system, for reuse kg 0 0 

Recovery system, for recycling kg 7.85E-01 2.45E-01 

Recovery system, for energy recovery kg 9.22E-02 4.28E-02 

Disposal kg 4.61E-02 1.52E-02 

Since only one scenario is used, the results are shown in the summary table. 
 
 
C4 Disposal 

No. Scenario Description 

C4 Disposal 
The non-recordable amounts and losses within the re -
use/recycling chain (C1 and C3) are modelled as “di s-
posed” (RER). 

The consumption in scenario C4 results from physical pre-treatment, waste recycling and management of the 
disposal site. The benefits obtained here from the substitution of primary material production are allocated to 
module D, e.g. electricity and heat from waste incineration. 
 
Since only one scenario is used, the results are shown in the summary table. 
 
 
D Benefits and loads from beyond the system boundar ies 

No. Scenario Description 1 

D Recycling potential 

Aluminium scrap from C3 excluding the recyclate use d in 
A3 replaces 70.2% of aluminium; 
Steel scrap from C3 excluding the scrap used in A3 re-
places 70.2% of steel; 
Stainless Steel scrap from C3 excluding the scrap u sed 
in A3 replaces 70.2% of stainless steel; 
 
Benefits from waste incineration: electricity repla ces 
electricity mix (RER); thermal energy replaces ther mal 
energy from natural gas (RER). 

1 Value correction factor 70.2% according to metal specific data set, 60% according to standard data set for other materials. 

The values in module “D” result from recycling of the packaging material in module A5 and from deconstruction 
at the end of service life. 
 
Since only one scenario is used, the results are shown in the summary table. 
 
 



 

 

 
 
 

Imprint 
 
Practitioner of the LCA 
PeoplePlanetProfit GmbH & Co. KG 
Gerberstrasse 7 
D-88250 Weingarten 
 
Programme operator 
ift Rosenheim GmbH 
Theodor-Gietl-Str. 7-9 
D-83026 Rosenheim 
Phone: +49 80 31/261-0 
Fax: +49 80 31/261 290 
Email: info@ift-rosenheim.de 
www.ift-rosenheim.de 
 
Declaration holder 
ASSA ABLOY (Schweiz) AG 
Untere Schwandenstrasse 22 
8805 Richterswil (Switzerland)t 
 
Notes 
This EPD is mainly based on the work and findings 
of the Institut für Fenstertechnik e.V., Rosenheim 
(ift Rosenheim) and specifically on the “ift-
Richtlinie NA-01/4 Allgemeiner Leitfaden zur 
Erstellung von Typ III 
Umweltproduktdeklarationen”. (Guideline NA-01/4 
- Guidance on preparing Type III Environmental 
Product Declarations) 
The publication and all its parts are protected by 
copyright. Any utilisation outside the confined limits 
of the copyright provisions is not permitted without 
the consent of the publishers and is punishable. In 
particular, this applies to any form of reproduction, 
translations, storage on microfilm and the storage 
and processing in electronic systems. 
 
Layout 
ift Rosenheim GmbH – 2021 
 
Photographs (front page) 
ASSA ABLOY (Schweiz) AG 
 
©   ift Rosenheim, 2025 



 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

ift Rosenheim GmbH 
Theodor-Gietl-Str. 7-9 
D-83026 Rosenheim 

Phone: +49 (0) 80 31/261-0 
Fax: +49 (0) 80 31/261-290 

Email: info@ift-rosenheim.de 
www.ift-rosenheim.de 


